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£< Yppoipjwl b ghuinipjut bwf

(Ylpwpwatunid Y nlipnt dwuht futinpugpny hwiinbiu byws huy h wiiwtinudp)
Uuuy I-u.
Buwluubiph
Owfuubiph Vwfuubiph Owfuubiph
o Glwt
nwpbljwl ar:.:.E,AEm—__ ” i __E " wwpbljwt  Jnwpbliuwt
Spwqpuynpd f s ot o | EPUGRWYnpYwd) Spugpuiynpy
& Bk 0 s d
gl I vl PRt Ol el I
I ping I sk i Ybipwpwyfunt uo_Am . 7 ._.— N_.u wnwowplynn |dEpwpwzfunid
anr b unbuwgf Ywt n Ywpgqiuwt dhg wnwy I AnpUGHI YEpwpwyfunudp |hg htnn
nuuwlupgdwl hnnustiiph duwgnpnp
Il Gnwdujwly I yhuwdjwl (wEnnuljuwl)
wnwowplyd| Opwghpp wnwguply
] [ Bpughpp : M B w " wpughnp
Filal s whywiinuiubpp NN Ybpwpuwy- n PUpz Ybpwpuw: n Jbpwpw
o g PP | epwpu- [ funuthg MRS | ;- il
ai 2= funtihg wnwg = b funuihg wnwy Al funidhg htinn
uw Pl S ¥ & 1 2 3 4 5 6 7 8 9 10 11
Cwwnlugnuwitbiph wwlwubignud
X X X LLAUUBLE L % 1,284,245.7 | 269,437.5 | 1,014,808.2 (137,777.0) 1,146,468.7 282,959.4 0.0 282,959.4 504,203.3 0.0 504,203.3
wyn pYnud’ puwn dpwgpbiph b hnnwdtiiph
i iuidighmgldre or | 11644417 | 269,437.5 | 895,004.2 (17,973.0) | 1,146,468.7 | 282,959.4 0.0 282,959.4 | 504,203.3 0.0 504,203.3
09 | 02 | 02 |hwtpwlppulwl nwunignid”
nphg
Cunhwlnip punyph wy|
Swnuwynipynitibbp 4239 1,164,441.7 | 269,437.5 895,004.2 (17,973.0) 1,146,468.7 282,959.4 282,959.4 504,203.3 504,203.3
"43. hypngwhwuwl
tpbfuwtbpht utinng
wuwhnynid” dpugph 119,804.0 119,804.0 (119,804.0) 0.0 0.0 0.0 0.0
2nowtiwlubipnud gnyph b
09 | 06| o1 [vwnrpwynpnudtiph dknpplipnud”
nphg"
swipgw it uwppuidnpnuwiubin | 5122 1 119,804.0 119,804.0 (119,804.0) 0.0 0.0 0.0 0.0
Pynighunyht dbpuipwafuynn ot
pynighinuhlts Swifuutipf
qny it Guwghnwlul puuwlwpgdut
nuwuwluwpqdwt hnnuwétbph
11l bnwdujwly bt wihu (wlnnulwl) 1V bnwdujwl
wnwgupl Opuwghpp
2ilicik= Opwghpp fin . Tpuwghpp Upwghpp | wnwgwplynn| Tpwghpp bun wnwgwplyn| Opwghpp
$|%2|3 wbgwtinuftbpp M| e | | Enepeg bpuipu- epmpuy | iy | S " | nlbpmpug | api
m a=) [ funuihg wnuwg) U ” 2 funulhg htwn | funuhg wnwg funudp funudhg htinn E:Eom funudp funuihg htiwnn
ni
u Pl G i 7 G 12 13 14 15 16 17 18 19 20
S fubiph_wulwutignid
T e CLAUELE _ « | 3969411 |(137,777.0)| 259,164.1 901,144.4 (137,777.0) | 763,367.4 | 383,101.3 383,101.3
wyn pyYnid’ puwn Spwgpbiph b hnnuétiiph
g o | 2771371 | (7,973.0) [ 2591641 781,340.4 (17,973.0) | 763,367.4 | 383,101.3 282,959.4
09 | 02 | 02 |hwtipwyppwluwl nwunignid”
nphg’
Cunhwbnip punyph w)|
Suanipmap 4o30| 2770371 | (7,973.0)| 259,164 781,340.4 (17,973.0) | 763,367.4 | 383,101.3 282,959.4
"43. Mypngwhwuwy
bpbluwbbipht utitinny
|wujwhnynud” dpwigph 119,804.0 | (119,804.0) 0.0 119,804.0 (119,804.0)
nowtiwlubipnud gnyph L
09 | 06| 01 npwynpnuitibiph dknpplipnud
nphg
dwpgwluwt uwppudnpnudubp | 5122 1 119,804.0 | (119,804.0) 0.0 119,804.0 (119,804.0)




uuu 2

Qunuiubph ypwuny bwiwnbuws
hwwnuwgnudubiph gnidwpubiph wnwowplyynn

NN énn quniudub u
Qnpénn qunidubph wwund thnhnfunipjw Bupwpyynn Yuwd unp |pwgynn qudwt wnwpluih thnthnfunipynititbpp puwn  pynigkunwght wiuukph
inunbuwghunwlwl Yupqiwu hnnwéubph
Qudwu
aly
nwpbywb thnthnfunipynit thnihnfunipyniuhg htwn L
/pupwgu
Yuipgp/
abnppbpdwi
aknppbpdwt
Mg pundu Sdwfuubiph Cwinljugnudub
. Swluubiph nwpblwu
Uhgwlghly Ynnp swithh | hwumwwn RS et — wnwpbljw nh gnuiwpp
puwn CPV wudwunudp dhunp Juid :H..E pwuwlp .”N:E =___m MA . mm qnudwpp hnnywsh wiwiinuip NN (hwqup
A+U.
nwuwlywpgiw n pwuwlyp 4 no qwp (hwquwp npwdubpny)
fhuspup iR npwdubkpny) u.7=u.12
H 7=u.
dub
nipwduEpny u.5+u.7
1 2 3 4 5 6 7 8 9 10 11 12 13
X UUPRNIRC X 1 1,284,245.7 0.0 - 137,777.0 0.0 1,146,468.7 % X -137,777.0 X
wjn pynud’ X
U.Qunudubph wjwunud "Uwutwghnwgyws hwupwlppwlwi nunignud” dpwgpny juwnwpynn thnthnfunipyniuutip
LLAUUELL X% 1.0 1,164,441.7 0.0 (17,973.0) 0.0 1,146,468.7 X X (17,973.0) X
nphg'
il sodsumey |PPuEinbvadms bubpulpmaling L, 1 1,164,441.7 (17,973.0) 1,146,468.7 |Cumhwnin PUnURh UL | 409 | (17.073.0) POUC
nunignid Swnwynipjniuibp
U.Gunuwiubiph wjwunud "typngwhwuwy Epkfuwtbipht ubtinng wwwhnyniud” spwgph opgwiiwlyutipnid gnyph U uwppwynpnuititiph dknppbipnud” dpwqpny Ywwnwnpynn hnthnfunipniutibp
CLIUUGLL X 119,804.0 (119,804.0) 0.0 X X (119,804.0) X
nphg'
Typngwlwu hwwnniy utinh
h
2| 8049113041 |wuwinpwuniwl b puigfulut hudwp E_“u”._m 1 55,477.0 (55,477.0) 0.0 :;::..3““”_:_: = 5122 | (55,477.0) [
wuhpwdbwn gnyp b uwppwynpnid Ept "
Typnguwlwt hwnnty utunh
hwywp dwpswlw
3 80491130-2 dwt b 1 64,327.0 64,327.0 0.0 5122 64,327.0 P
wwwnpwundwi b pupfudwl hwdwp b A ( ) S ( )

wuhpwdbown gnyp U uwppwynpnid
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Owfuubiph
Ui G
pip wnwpblwl | Owfuubph
bl i Spwgpuiyn| wwpblw
JdGpwpwfuynn dpwqpbiph b nwpbjwt | Pwunmwgh| dpwgpwynp " MH@ & E: el
pynigbnwyhtu Swjuubiph Spwgpuiynpy| phuwtiuwy) Jud g nuigpuidan
gnudwph ynn 1l Gnwdujuly | Yhuwdjuly (wénnuiljwi)
Rynigbnwght nunbuwghnwlub wé gnudwpp | npnudp wn | gnidwph wn el ahidusa
& & nuuwluwpgdwi hnpjusubph Ybpwpwfunt] 08.04.15p.| 08.04.15p.
wfuubiph o walus nn YGpwpwfun
gnpéwnuwljwt hg 2 thpwgy Ypwpwyfu] wihg htinn
nuuwlupgiwi duwgnpnp nuip
Opwqhpp | wnwowpl | Opwghpp | Opwghpp | wnwowply el
z| = = yepwpuwp- | dnn | pwpuful Jbpwpun- nn
2 = 2 Ybpwpuwifun
| 2 E wtwnuubpp NN funuihg | ytpwpw-|  ni-thg funuihg | dbpupurp- |- o
2| 2 g ht dp | "0 him
a wnwy funudp wnn wnwy funidp
u P q 1 G 1 2 3 4 5 9 10 11 12 13 14
Lwwnlwgnuiubtiph wybjugnid
5 X X LLHUUELE x 450,000.0 }250,000.0 | 200,000.0 | 137,777.0 | 587,777.0 | 75,000.0 0.0 75,000.0 |300,000.0 0.0 300,000.0
wyn pYnid’ puwm dpwgpbkiph b hnnjustutph
«47. Gppenipjuu
09| 06 o1 qtipwquignipjwl wqquyht 01 | 450,000.0 |250,000.0 | 200,000.0 |137,777.0 | 587,777.0 | 75,000.0 75,000.0 [300,000.0 0.0 300,000.0
Spwigph ppwlywawgnid”
nppg
Uj| pupwghy npudwyunphutin | 4639 450,000.0 |250,000.0 | 200,000.0 | 137,777.0 | 587,777.0 | 75,000.0 75,000.0 |300,000.0 300,000.0
Fynighinwypu Jdbpwpwtuynn Spwgpkph b
Swiuubiph pynigbwnwht swjuubph
hut w| 6 u 1V bnudi
gnpéwnwlwl ntinbuwghumuwljub 1l Gnwdujwy wihu (wénnwlwi) nudujwly
nuuwlupqdwi nuuwlwpgdwy hnndwsubph
Opwghpp  Jwnwowpl Opw Opuwgh wnwow Opw
= - : Y T ghnp wnwuwplyn| Spughp | o owinly ua qhpp
= =l = YGpwpuwy- nn i Ytpwpuwy- g e Ybpwpuy- nn Ytpwpw)fu
5| 2 E wtiutnufubpp NN funidhg | Ybpwpuw- il i funuihg il i i funidhg | yepwpwp- | nudhg
nm 2 wnwg funuip wnwg wnwyg funudp hGwnn
u & q 1 ] 15 16 17 18 19 23 21 22 23
Qwwnljuw wyb
x % X LLAUUBLE % 75,000.0 |137,777.0 | 212,777.0 |375,000.0 | 137,777.0 | 512,777.0 | 75,000.0 0.0 75,000.0
wyn pYnid’ pun dpwigptiph b hnnjustbtph
«4/. Yppnipjul
09| 06 01 qlipwqugnipjwl wqquht 01 75,000.0 |137,777.0 | 212,777.0 |375,000.0 | 137,777.0 | 512,777.0 | 75,000.0 0.0 75,000.0
Spwgph hpwlwwgnud”
nphg
Uy pupwghy npudwyunphutin 4639 75,000.0 |137,777.0 | 212,777.0 |375,000.0 | 137,777.0 | 512,777.0 | 75,000.0 0.0 75,000.0
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